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ENTRANCE TEST FOR Ph.D. PROGRAMME, 2023
PHYSICAL EDUCATION

: Three Hours o : Max1mum 100 Marks
| PartA o |
Answer all questions.
Each question carries 1 mark. »
. Another name for a Likert Scaleis a(n) :
(a) Interview protocol. (b) Event sampling.
(c) Summated rating scale. . (d) Ranking »
. Which of the following is not one of the six major methods of data collection that are used by
educational researchers ?
(a) Observation: | (b) Interviews.-
(e Q'uestionnaires. ' . (d) Checklists.
: .A'census taker oﬂ:en collects rlata through which of the following ?
(a) Standardized tests. (b) Interviews.
| (c) Seeondaryidata 7 - _ ‘ @ bbsewations A
The researcher has secretly placed him or herself (as a member) in the group that is being studled

This researcher may be which of the following ?
(a) Acomplete participant. o v -
(b) An observ_er-as_-participant. |
() | A participant-as-observer.
(d) None of the above.
Which of the following is not a major method of data collection ‘7
v(a) Questionnaires. ~ (b) Focus groups.-

(c) Co relatienal method. - (d) ‘Secondary.data.
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6. Which type of interview allows the questions to emerge from the unmedlate context or course of
- things ? : _ S _ . e : :
(a) Intemew g'ulde 'approach. R | |
) Informal conversational ihtervie’w.
(@ Closed quantitative interview. |
@) Standardized open-ended interview. -
Y Samphng in qualitative research is similar to Wh1ch type of samphng in Quantltatwe research ?
(a) Simple randcm sampling. 7‘ ) Systematm sampling. - '
(c) Quota samplmg ; : (d) Purposwe samphng

. 8. Whl(:h of the followmg would generally reqmre the largest sample size ? " *

(a) Cluster samphng o ‘ (b) Simple random samplmg,
(c) Systematlc samplmg L d) Proportxonal stratlﬁed samphng
9. Pe'eple th are available, volunteer, or can be,easlly‘ recrmted are used in the s@pling method
(a) Simple random sarnplihg‘.r ) Cluster sampling '
(c) . Systematl,c sampling. = ' “(d). Convemence samphng )

10. Which of the followmg would usually require the smallest sample swe because of lts efﬁclency ?
(a) One stage cluster samplmg T, -
(h) Slmple random samphng
(c) Two stage cluster samphng
7 ', (d) Quota samphng
 11.” Which research paradlgm is based on the pragmatlc v1ew of reahty ?
» K (a) Quantltatlve research. 7 ' (b) Quahtatlve research
(¢) Mixed research 7 o : (d) N one of the above. ]
12, 'Whu:h research paradlgm is 1east coneerned about generahzmg 1ts ﬁndmgs 2 o
/ (a) Quantltatlve research (b) Quahtatlve research.

(c) Mixed reSearch._ ' o (d) None of the above.




1.

14.

15.

16.
17,
18..

" 10.

20.

Which of the following bé:st describes quantitative research ? _
(a) The eollection of nonnumeric data. - |
‘(b) An attempt to confinn, the researcher’s nypotheses. '

- (¢) ' Research that is exploratory.”

. (d Research that attelnpts to generate a new theory. .

A condition or charaeteristi'c: that can tak“e.on different values or categories is called —

' (a) ‘A constant, | () Avariable.

(c) A cauSe-and-effect relatlonshlp / (@) A descriptive relationship.

) Wh1ch Vltamm plays a promment role in blood clotting ?

(a) VitaminA.™ = ~ (b) VitaminD.
“(e) VitaminE L@ VltammK.

The state of belng first creates a strong almost unusable i 1mpres51on ThlS is:

(a) Law of pnmacy o (b) Law‘of intensity.
(¢) Law of recency . | - (d) Law of eﬁ'ect ‘

That the thmgs most recently learned are best remembered refers to :
(a) Law of mten51ty. o () Law of eﬁ'ect |
(c) Law of primacy. - | - (d) Law of recency.

Which is the lowest level of learning ?

Whlch of .the followmg is not an attnbute of agreeableness personahty d1mens1on ?

(a) ~Altruism. ‘ N ) Complexity.
(c) Trust. g (d Modesty..
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(a) Ratelearning.  (b) Understanding.
@) Applieation - ; | (d) “Correlation. |
uEmotmnal stability, anx1ety, sadness and built ablhty are attr‘lbutes of which. personahty '
~dimension ? : . .
- (a) Extrovérsion.' " ' (b)- Agr‘eeableness.r :
"~ (c) Bourgeoisies' ' ‘. 4 Ad) Openness
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 The leader who allows complete freedom in decision makmg and do not partlclpate in the group '

activitiesis: _

(a) Aut;ogratic. | | o (b) Democratic.

(). Laésézfair. : : "~ (d> None of the above.
Stressis: | |

- (a) Adyantageous to the player.

(b) Detrimental to his aiiﬂities.
- (¢) Both advantageoﬁs and detrimental as per tﬂhe situation.
| (d) ' Noné of the above. | o
Masl_ow places rieéds at the bottom Of hierarchy :
(a) Esteem. ' ' (b) Belonginggess.
(©) Safety. - | (d) Physiological.
Which law of learmng is also called the law of use and disuse ?
(a) Law of exercise. f' ' (b) ‘Law of readmess
(c) Law of effect. | " (@ Law of intimacy. .
The law of effect is also known as : |
(a) Léw of use and disuse. (b) Law of satisfa;:tion.
) Law.of re"ce\ncy'. (@ Law of frequency. .
Which of the following are true ? |
i Maf;uré ;'ed blood cells do not con%:ain a nucleus.

ii. Red blood cells contam haemoglobin, wh1ch binds to oxygen

iii.- Red blood cells transport oxygen to body cells and transport some carbon d10x1de from body
cells.

iv. Hemoéytoblasts give rise to all types of blood cells. -
(a) i, ii, and iii. _ - (b) ii and iii only.

© ii i, andiv. -~ (d) 1, ii, iii, and iv.
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Where are red blood cells produced ?
(a) Lymphat1c vessels , . (b) Heart chambers.

(c) Red bone marrow ’ (d) Yellow bone marrow.

_ All of the following types are white blood cells, except

(a) Neutrophlls. . " (b) Lymphocytes
(©) Teells, @ Plateless.
N eutrophlls perform which of the following functions ? oo
(a) Produce antibodies. : (b) Phagocytize bacteria.
) Destroy infected body cells. (d). Deliver carbon dioxide to the lungs |

Which of the foIlowing statements about nemotransmitt‘ers isfalse?
(a) Excitatory neurotransmitters may generate an vactioh potential in the neuron they reach.
(b) At a neuromuscular junctiou, acetylcholine has inhibitory effects. .
(e Dopamme helps regulate muscle tone.
(d) Norepmephrme is found in both the central and per1phera1 nervous systems

A signal moves through the parts of a smgle neuron in what order ?

. (a) Dendntes,-cell body, axon, axon tern'una._ls.'

(b) Axon termiinals, axon, cell body, dendrites.
(c) éell‘body, dendrites, axon, axon terminals.

(d) Axon, dendrites, axon terrninals, cell body.

A myelinated axon transmits a signal — a non-myelinated axon.
(a) More slowly than. S (b) More quickly than.
(c) At the same rate as. (d) More accurately than.

When a neuron is not transmitting absignal, which of the following is true ?
(a) Thecell membraue is depolarized.

"(b) The cell contains an action potential.

(c) The cell cannot be stimulated by neurotransmitters. o -

(d)_ The net charge inside the cell is negative. . :
‘ S - Turn over
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| 34, VWhich type of cells phagocytize debris in the central n'ervotrs system ?

(2) Ependymal cells. . () Astrocytes.

“(e) Mlcrogha o ' @ Oligodendrocytes.

35. Which one of these statlstlcs is unaﬁ'ected by outliers ? | |

(a) Mean. V o (b) Inter quartile range

(c) Standard deviation. . (d) Range. »
36 A list of 5 pulse rates is: 70, 64, 80, 74, 92. What is‘the median for this list.?

(@) 74. . L m s
@ '77.-._ . (@ so.
37. Which of the following wbuld 'be most hkely to produce selection bias in a survey ?i :

:(a) Using questlons with biased Wordmg v

(b) Only recelvmg responses from half of the people in the sample

(c) Conducting interviews by telephone mste'ad of in person.

(d) Usmg a random sample of students at a. umverS1ty to estunate the ‘proportion of people
who think the legal drinking age should be lowered

-38. Which one of the following variables is not categoncal ? i 'L
(a) | Age of a person. 7 o
) Gender ofa person: male or female.
- (o) .‘Ch01ce on a test item: true or false.
| (d | Mantal status of a person (smgle, married, d:worced other)
39 Whlch one of these statlstlcs is unaﬁ'ected by outhers ?
' (a) Mean : f (b) Interquartlle range.
(c) Standard dev1at10n o . (@) Range. '
40 Which of the following would indicate that a dataset is not bell—shaped ?
(a) The range is equal to 5 standard dev1at10ns : »
(b) The range is larger than the inter quartile range.
© (c) The mean is much smaller than the median.

‘ (d There are no outliers.
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Questlons 42and 43 A newspaper artlcle reported that "Children Who routmely compete in vigorous
after-school sports on smoggy days are three t1mes more hkely to get asthma than their non-

~ athletic peers

of the followmg, which is the most important additional information that would be useful before,

: makmg a decision about participation i in school sports ? ?

(a) - ‘Where was the study conducted ‘? "

(b) How many students m the study participated in after-school sports ?
(c) What is the basehne risk for getting asthma ? |

(d) Who funded the study ?

The newspaper also reported that “The number of children i in the study who contracted asthma
was relatively small, 265 of 3, 535 Whlch of the followmg is represented by 265/3535 075 ?

(a) The overall risk of gettmg asthma for the chlldren in this study
(b) “The baselme nsk of getting asthma for the non-athletlc peers in the study—
(c) » The risk of getting asthma for children in the study who partlclpa.ted in sports ~

(d) The relative risk of getting asthma for children who routmely participate in v1gorous
after-school sports on smoggy days and their non-athletic peers.

Which of the following Would be most likely to produce selectlon bias i ina survey ?
(a) Using questions W1th biased wordmg A
- ‘(h) Only recelvmg responses from half of the people in the sample
(c) Conductmg mtemews by telephone. mstead of in person.

(d) Using a random sample of students at a university to estimate the proportlon of people -
- who think the legal drinking age should be lowered :

Wluch one of the followmg variables is not categoncal ?
, '(a) Age of a person.
(h) “Gender of a persou : male or female.
4’ (c) .Choice on a test 1tem true or false.

(d) Marital status of a person (single, married, dlvorced other)
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To the different body parts oxygen is carried by :
' (a) Platelets. - (b) Haemoglobin.
(@ WBC. (@ Serum.
The point where the entire mass or weight of thé body ma& be considéred to be cdncentraféd is:
(aj lCentre of mass. , - (b) Cenf,re of gravity.

(c) Torque: - “(d) Lever.

. 'Which muscle is called boxers muscle ?

(a) Deltoid. " (b) Biceps.

(¢) Serratus anterior. (d) Pectoralis major.

, Which of the following is an example for biaxial jbint ?

(a) Hinge. | (b) Pivot.
(c) Both (a) and (b). (& None of the above.

Osgoods Semantic Differential scale is used to measure

(a) Anxiety. : (b) Stress.

(o) 'A_ggres‘sidn. - - (d) -Attitude.

Sprinting sp.e’ed is best developed through

 (a) Interval training . ~ (b) Weight training.

(¢) Meditation. | ) - (d) . Circuit training. _
| | ~ (50'x 1 =50 marks)
"Part B ' ‘

.AnAswer any ten questions.
Each question carries 5 marks. -

Questionnaire.

53. Need of Research Design.
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Interpretation.

Limitations of test of significance.
Carbohydrate loading.
" Insulin. '

Perception.

Null Hypothesis.

Anova.
Percentile.

Floating rib

Test for flexibility.

Control groi;p.

(10 x 5 = 50 marks)




